[19;:9:9:9:9:9:9:9:0:9:9:9:9:9:9:0:9:0:0.9:9:0.0.0.0.0:0.:9:9:0.9:9:0.0.0:9:0:0:0:0.0:9.:0.0:0.:0:90:9.0:9:9.:0:0:0:0.0.9:0:0.0:0:0.0:0:0.9.0:0.9:0.0.0.:0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKMS/1-6500307-00001XX
TrigonometryExercise7 for No.9395

d=[a=54b="54c= (543 =93.53)] }
2=[B=45c¢=(304/3 —30=21.96), a=(304/2 4/3 =73.48)]
NOZZ{I:[C:75°,A:6O°,b:(22«/5«/§:53.89)]J
2=[C=45,B=75,a=(36424/3 =88.18)]
I=[B=30%a=18,c= (7843 = 135.10)] }

NO3:{2:[A:6O°,b:(18«/5«/?z44.09),c:(9«/5«/§+27«/5:60.23)]

Nod=1[a=66,b=(66+3 =114.32), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500307-00002XX

TrigonometryExercise7 for No.9419

NO]_[ d=[a=(45+454/3 =122.94), =90, ¢ = (454/2 4/3 = 110.23)] }
TL2=14=60% b= (114243 +334/2 =73.61), c = (222 4/3 = 53.89)]
[1 —[4 =45°,B:75°,c=(24ﬁﬁ=58.79)]J
No2 =
2=[B=30° C=30%a=(424/3 =72.75)]
Noj,:[ I=[C=45°b=(154/3 —=15=10.98), a = (154/2 4/3 =36.74)] }

2=[A=60°c=(204/2 /3 =48.99), b= (104/2 4/3 +304/2 =66.92)]

Nod=1[a=90,b=(90+/3 = 155.88), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00003XX

TrigonometryExercise7 for No.9428

I =[B=45° a=(24+244/3 =6557), c = (2442 =33.94)] }
2=[a=42,b=214/2 3 =214/2 =21.74), ¢ = (424/2 = 59.40)]
NOZ_{]z[B:150,C=45°,a:(27«/5«/§:66.14)]J
TL2=[4=60° C=75°b=(16+24/3 =39.19)]
[1 _[C=60° a= (104243 =24.49), b=(524/3 + 15«/5=33.46)]}
No3 =
2=[4=30°% c= (2142 /3 =214/2 =21.74), b= (424/2 = 59.40)]

Nod=[a=72,b= (36423 =88.18), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00004XX

TrigonometryExercise7 for No.9459

o :{1 _[A=30° b=(484/2 = 67.88), c = (244/2 4[3 =24 4/2 :24.85)]}
2=[a=(18+42 /3 =44.09),5=36,c=(184/3 - 18=13.18)]
NO2:{1=[C= 15°,A=45°,bz(18«/§«/§z44.09)]}
2=[B=60°A4=75,c=(224/2 /3 =53.89)]
I =[B=45°c=(36+364/3 =9835),a=(364/2 =50.91)] }
2=[4=30°b=(184/2 +184/2 4/3 =69.55), c = (364/2 = 50.91)]

Nod=[a=84,b= (8443 =145.49),4=30°]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKKXXKXKXKKXKXKK

No]:[

Nolz[

N03={




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXMS/1-6500307-00005XX
TrigonometryExercise7 for No.9476

o _{1 —[a=(21 +21«/;:57.37),b:(21«/5:29.70),c=42]}
2=[B=30°¢=(784/3 = 135.10), a = 78]
[ I=[A=30° C=30°% b= (8443 = 145.49)] J
No2 =
2=[A=60° B=75,c= (3042 /3 = 73.48)]

Nos—[ I=[C=30°a=(6642=9334), b=(3342 +334/2 43 = 12750)] }
TL2=[B=60°% a= (114243 +334/2 =73.61), c = (2242 4/3 = 53.89)]

Nod=[a=54b=(54+3 =93.53), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500307-00006XX

TrigonometryExercise7 for No.9491

[.1 - [C:60°,b:(14«/5«/§+42«/5:93.69),az(28«/§«/§z68.59)]}
Nol =
2=[a=27/2/3 =66.14), b =54, ¢ = (27+274/3 =73.77)]
NOZ_[.]:[C:45°,A:15°,b:(27«/5«/§=66.14)]}
TL2=[4=75°B=60°c=(304/2 43 =73.48)]
{1 _[B=60%a=(104/2 43 =24.49), c= (542 4/3 + 15«/5=33.46)]}
No3 =
2=[C=45% a=(304/2 /3 =73.48), b= (304/3 =30 =21.96)]

Nod=[a=18,b=(78+/3 = 135.10), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00007XX

TrigonometryExercise7 for No.9633

NO[Z[.I=[a:(66ﬁ=93.34),b=(33ﬁf—33 2:34.16),c:66]}

2=[B=45,a=(39+3943 =106.55), c = (394/2 4/3 =95.53)]
.1=[C=3O°,B=15°,a=(90«/7=127.28)]}

2=[A=60° C=75°b=(204/2 /3 =48.99)]

N03_{]:[B:6O°,a:(16«/5«/?239.19),c:(8«/5«/§+24«/5:53.54)]}
T 22[4=30% b=(424/2 =59.40), c = (214/2 + 214/2 4/3 = 81.14)]

Nod=1[a=90,b=(90+/3 = 155.88), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00008XX

TrigonometryExercise7 for No.9711

NO]_{]:[a:(9«/5«/§+27«/5:60.23),bz(lS«/E«/;:44.09),c:54]}
T 2=[4=30%b=(3342 +334/24/3 =127.50), c = (66 /2 = 93.34)]
[.1 _[4 =75°,B=60°,c=(28«/§«/§=68.59)]}
No2 =
2=[Ad=15° C=30°b=(424/2 = 59.40)]
[.1 _[B=30°% c=(9042 = 127.28), a = (4542 43 —454/2 =46.59)]J

No3 =

2=[A=45 b= (1542 =2121), c=(15+154/3 =40.98)]

No4=[a=54,b=(544/3 =93.53),4=30"]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXKKXKKXKXKXKKXKXKK

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6500307-00009XX
TrigonometryExercise7 for No.9784

NO]:[J:[A:60°,c=(22«/§«/;:53.89),bz(ll«/?«/g+33«/5:73.61)]}
2=[a=(33+334/3290.16), b= (3342 /3 =80.83), c = 66]
Nozz['] =[C=60°,B=75°,a:(zoﬁﬁ=48.99)]J
2=[C=105° B=45° a=(18+/2 =25.46)]
N03:{1 —[C=60%b=(2842 /3 =68.59), a= (1442 4/3 +424/2 :93.69)]}
2=[B=45c=(304/2 =42.43), a= (30 +304/3 = 81.96)]
Nod=[a=72,b=(72+/3 = 124.71), 4 = 30°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500307-00010XX
TrigonometryExercise7 for No.10143

ol - {1_[61 (842 4/3 +244/2 =53.54), b= 48, c—(16«/7«/7—3919)]}
[4=30°%b=(3642 +364/24/3 =139.09), c = (7242 = 101.82)]

I=[C=105° B=30° a= (542 =7637)] J
2=[4=60° C=75° b= (1842 /3 =44.09)]
I=[B=30°a=54 c= (543 =93.53)] }
2 [C=45°, a=(42+424/3 =114.75), b= (424/2 = 59.40)]
Nod=[a=42,b= (4243 =72.75), 4 = 30°]
):9:0.9,0.0.9,:0.90.9:0.9.9:0.9.9:0.9.9.0.9.9.0.9.0.0.9:0.9.9:0.9.9:0.9.9.0.9.9.0.9.0.0.9.0.0.9:0.90.9:0.9.9.0.9.9:0.9.9.0.9.0.0.9.0.0.9.0.9.9.0.9.9.0.0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00011XX
TrigonometryExercise7 for No.10359

NO]:[.I:[a:36,b:(18+ 18«/§=49.18),c=(18«/§=25.46)]}
2=[B=30° c=(424/3 =72.75), a = 42]
I=[B=105°,C=45 a= (2142 =29.70)] }
2=[A4=75 B=60° c=(12+2 /3 =2939)]
N03:[.1 :[C:45°,b:(27+27«/§:73.77),a:(27«/5«/§:66.14)]}
—[4=30°b=(904/3 = 155.88), ¢ =90]
Nod=[a=30,b=(154/2 /3 =36.74), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00012XX
TrigonometryExercise7 for No.10626

Noz{ I=[a=36,b=(18+18+/3 =49.18), c = (18 4/2 =25.46)] }
2=[B=60° c=(9424/3 +274/2 =60.23), a= (1842 4/3 = 44.09)]
Noz=['1 :[B:45°,A:75°,c:(18«/5«/§:44.09)]}

2=[B=75,C=60%a=(104/2 43 =24.49)]
I=[4=30° c=(484/3 =83.14), b= 48] }
2=[B=45c=(24+244/3 =6557),a= (2442 =33.94)]

Nod=[a=66,b=(6643 =114.32),4=30°]
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK

N02=[

N03:[

NoZ:[

N03:[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXXKXMS/1-6500307-00013XX
TrigonometryExercise7 for No.11002

NO]_[ d=[a=54b=(2742 =38.18), c = (27 + 2743 =73.77)] }
2=[C=60%b=(124/2 /3 =29.39), a = (64/2 43 + 1842 =40.15)]
[ I =[A4=30° B=105° c= (6642 =93.34)] J
No2 =
2=[B=60°4=75,c=(224/2 /3 =53.89)]
N03_[.1:[C:45°,b:(27«/;—27:19.77),a=(27«/§«/;:66.14)]}
2=[B=30°a=(3043 =51.96), c=30]
Nod=[a=60,b=(3042 3 =73.48), 4 =45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500307-00014XX
TrigonometryExercise7 for No.11188

NO]:{1:[C=3O°,b=(42«/§=59.40),a=(21«/5+21«/E«/§=81.14)]}
2=[a=30,b=(15+15+/3 =40.98), c = (1542 =21.21)]
NZ_[J:[C 45°, 4 =105°, b= (2442 = 3394)]}
2=[C=15° B=30° a_(54ﬁ 76.37)]
o {]—[A 60°, b= (1542 4/3 +454/2 =10038), c = (304/2 4/3 = 7348)]}
2=[C=30°a=(604/3 =103.92), h=60]
No4=[a=78,b=(78«/7=135.10),A=30]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00015XX
TrigonometryExercise7 for No.11505

NOI_[.I:[C=60°,b=(14«/5«/;+42«/5:93.69),a:(28«/5«/§:68.59)]}
Tl 2=[a=90,b= (4542 + 4542 4/3 =173.87), ¢ = (90 4/2 = 127.28)]
{1:[A:75°,C:45°,b:(45«/5«/§:110.23)]}
No2 =
2=[4=30° B=15° c= (7242 = 101.82)]
Nog o [1 [B=60° a=(22+2 /3 =53.89), c= (1142 4/3 +334/2 = 7361)]}

_[A4=30°% c= (3042 =42.43), b= (154/2 4/3 = 154/2 = 15.53)]
Nod=[a=72,b=(3642 /3 =88.18), 4 = 45°]

):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00016XX
TrigonometryExercise7 for No.12113

NO]:{]:[02(10«/5«/;:24.49),b:30,c:(5«/5«/§+15«/3233.46)]}

2=[C=30%a=(184/24/3 —184/2 = 18.63), b= (364/2 =50.91)]

NoZ:[l —[B=60%A4=75,c= (24243 = 58.79)]}

2=[C=105% 4=30°b=(364/2 =50.91)]
N03_{ I=[A=45°,c=(36+364/3 =9835), b=(364/2 43 =88.18)] }
TL2=[B=60° a=(144/2 43 =3429), c = (74/2 /3 +214/2 = 46.84)]

Nod=[a=84 b= (42423 =102.88), 4 = 45°]
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXKXKXKXKXKKKKXKXKXXXKKXKXKXKXKKXKXKXKXKX



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6500307-00017XX
TrigonometryExercise7 for No.12541

NO]{.J:[B:60°,c=(8«/5ﬁ+24 2 :53.54),a=(16«/5«/g=39.19)]}
2=[a=36,b=(18+18+/3 =49.18), c = (18 /2 4/3 = 44.09)]

1 =[C=105° A = 45°, b:(18«/5:25.46)]J

2=[C=30°B=105a= (3642 =50.91)]
N03:{1 _[C=45°,b=(21 +21f=57.37),a=(21ﬁﬁ:smm}
2=[B=30°a= (543 =93.53), c = 54]
Nod =[a=66,b=(6643 = 11432), 4= 30°]

):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500307-00018XX
TrigonometryExercise7 for No.12590

d=[a=78,b=(784/3 = 135.10), ¢ = 78] }
2=[B=45,c=(15+154/3 =40.98), a = (154/2 4/3 =36.74)]
Nozz[.lz[C:75°,A:6O°,b:(22«/5«/§:53.89)]}
2=[A4=75°,C=45b=(334/2 3 =80.83)]
I =[A=30%b=54 c= (5443 =93.53)] }
2=[C=45, a=(45+4543 =122.94), b= (454/2 4/3 =110.23)]
Nod=[a=72,b=(72+/3 = 124.71), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00019XX
TrigonometryExercise7 for No.12621

NO]:{1=[a=54,b=(185ﬁ=44.09),c=(9ﬁﬁ+27ﬁ=60.23)]}

2=[C=30°a=66,b=(6643 =11432)]

NOZ_{I S [B=45°4=15° c=(424/2 43 = 102.88)]}
2=[C=30° B=105° a=(304/2 = 42.43)]

N03_{]:[B:6O°,a:(16«/5«/?239.19),c:(8«/5«/§+24«/5:53.54)]}
2=[4=30°b=(904/3 = 155.88), c = 90]

Nod=[a=84 b= (42423 =102.88), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6500307-00020XX
TrigonometryExercise7 for No.12641

Noz:{]:["242=b:(14ﬁ[=34-29),c=(7ﬁﬁ+21ﬁ=46.84)]}

2=[B=45,a= (45243 =110.23), c = (45 + 4543 = 122.94)]

N02=[

No]:[

NoSz[

I=[B=105°,C=45° a= (4242 = 59.40)]}
2=[B=30°4=30° c=(72+/3 = 124.71)]

NO3_[ I=[B=30%c=(24+2 + 2442 4/3 =92.73), a = (484/2 = 67.88)] }
TL2=[4=60° b= (284243 =68.59), c = (144/2 4/3 +424/2 =93.69)]

No4=[a=60,b=(604+3 =103.92),4=30°]
X [Page = 0005] XXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXKXKXKXXKXKXKXKKXKXKXKKXKXKK

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6500307-00021XX
TrigonometryExercise7 for No.12674

NO]_[.J: [B=60°c=(204/2 43 =48.99), a= (104243 + 30«/5:66.92)]}
2=[a=48,b= (2443 —24=17.57), c = (24+/2 4/3 = 58.79)]
I=[B=45°,C=15 a=(364/2 3 =88.18)]
No2 = o o
2=[B=754=60°c=(26424/3 =63.69)]
N03_[.1 —[C=60%b=(84/24/3 +244/2 =53.54),a=(16«/5«/g=39.19)]}
2=[A=45° c=(424/2 43 =102.88), b= (42 + 4243 = 114.75)]
Nod =[a=66,b=(332 /3 =80.83), 4 = 45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6500307-00022XX
TrigonometryExercise7 for No.12728

NO]:[ I=[C=45°b=(214/2 3 =51.44), a = (21 + 2143 =57.37)] }
2=[a=90,b=(304/2 /3 =73.48), ¢ = (1542 4/3 + 454/2 = 100.38)]
Nozz[.]:[C:45°,B:75°,a:(33«/5«/§:80.83)]}
2=[C=15°B=30%a=(424/2 =59.40)]
I =[C=30°%b=(484/3 =83.14), a = 48] }
2=[A=45 b= (45+454/3 =122.94), ¢ = (454/2 = 63.64)]
Nod=1[a=18,b=(78+/3 = 135.10), 4 = 30°]

):9:0:9.0:0:9.0.0:9.0:0:9.:0.0:9.9.0:9.:0.0:9:0.0:9.:0.0:9.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:¢
L >

N03=[




